EARAROBEEIERT — 2 N— IBISH —F

201553H28H (£) 3EIFTH

Bilcse G2 vSramt ER (0 AT

‘ [R1%] & ‘ [RERBE] — | Z (&) 25000 B

[~®4] 1 % 65,000,000 @ ~ 2 7 :26,000,000 M 37 :16,000,000 0§

4 7% 19,800,000 . 5 7 6,500,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. — & E R :30. -7-7- . . BEE (EX)
lslgl 7 Rz1w7Y2 o4 e 2(3_0)2 7-7-7-5 | 34.2|111.0| 4 :1_762) R
R:7RKI4 Y K> B:Aq4vih—F T HiE
NS s . 1BKI— :30. ~5-5- . . WmkElE (EX)
2 3 AL LINYTS 47 57?0 (21330/8 5-5-5-3 | 34.7|107.9| 5 (5_23 LE;%) s
RN=YT754 B:ZX—Ix—/N\L)—F =Y Ty—LA
3 2 7 | HIDHE 2:30.5 9-9-9-8 |34.4[107.8| 6 480 | MAKERFI (£3#)
N : METERFAZ) HT ] 757 o |sEE
V- NFAHFLF— By - AEU-— RS
T # o4 | M. FL-0O 2:30.5 11-11-11-11| 34.0 | 107.8 | 1 500 | EERRE— (ER)
al7li0| #2477 -2 55.0 757 () |BEME
R:xF21=r—X B:Typ—XNIFY L BT r—L
S HS . s o8 | HL#HL 2:30.7 1-1-1-1 | 35.6 | 106.0 | 7 498 | HAKERR (BER)
511117787y Nn 56.0 (1 1/4) ) ‘EE) FrAy hT7—L
R:F2540 B:X¥yTI (B) HBEa-KL—-ra>aEI7
== R 4 o6 | BBER 2:30.9 9-9-10-9 |34.6 | 103.6 | 9 484 | ERAFIA ()
6|8|12| A7 7K 6.0 (1178 ) | FIEEA
R:€r/0704 B:E-y12 R [Ea=Ese]
S o t 5 | ENEAS 2:30.9 3-3-3-3 [35.2(103.8| 8 476 | FHRE (BR)
By avERZ L TLA "5 o e o |2TE @)
R:7V%tx B:Ky bTLA SR
4 6 | FBEKX 2:30. 12-11-11-11{ 34.5 | 103.6 | 2 494 | FHEIEX (Xid)
glzlg| 7T/ —*/ 58.0 (7€) 8 | B HrF-L—v>y
R:ZFA4d—IK B:Fs50->1 BRT 7 —L
B - # 5 | SEILHE— 2:31.1 5-5-5-5 | 385.3 | 101.7 | 10 462 | AHHEH ()
o|8[11| - TI= 54.0 R o | BlIEE
LA gLy B TI—Z HRRSH TXF(T7—L
. 6 | EEZ 2:31.2 2-0-2-2 | 35.7(100.9 | 3 | 494 |1HIRER (&)
0l5l5| 7y—wa14- [B] 85D i oy | L=
L:xrinMO— B:XTANACTRE FRESS
> ; 47 | HEEAH 2:32.2 8-7-7-9 |36.2| 91.2 | 12 | 498 |HEPER (Kik)
1y s|¥TFIVx2UZb [B] 57.0 ® o | B ¥5IL k9575747
RZRFAd—IEK BV oINS =TI R RER S
P & IS 4 6 | AHEF 2:32.8 3-3-3-5 |37.1| 86.5 | 11 458 | FHLUBA (R=R)
12 2 T4 XT =21 56.0 (3 1/2) (-4) IR
R:viNnygLHT7r B:O-UI ity 1EE
@ 71 L
) 46.8-35.1
NA> 24 L | 6.9-11.4-11.5-11.9-12.0-12.4-13.1-12.4-11.8-11.7-11.7-11.6-11.8
® I —F—EBIERL
13—3— 1-5(2,7) (3,11)6,8(4,12)10,9
2= = 1-5(2,7) (3,11) (8,6) (4,12) (9,10)
Gol=5r= 1-5(2,7) (3,11) (8,6)4,12(9,10)
43—7F— | 1-5(3,7)(2,11,6)4(8,12) (9,10)
[ N3
BB 6 540M 714K 3-6 850M e E 3-5 960M JEHE 3-4-6 8,900/
8 B 6 220M 4-6 1,360M B E 3-6 2,190H B 6-3-4 37,310
3 260 3-4 1,370H B H 6-3 3,940M
4 340M

ABICOVWTRDTEEERROODE. TR LIV,




